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03 A= AR FAIH| 7,600 7,600
OXIorEpzl Q YeiArY 27
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O=HEZAl erEze| L SHAIY =2
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01 AtR2te|b] 9,370 9,600 2230
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— A 2OEE Sl 50,000& %12 50
OAIEZHl AL 29,000
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201 er23| 36,225 11,225 25,000
01 AtR2te|HI 36,000 11,000 25,000
Odstad 7Y 10,0002 %1,000H 10,000
O2&=4 22 2,000,000& 2,000
OFAZEANE LRI &2 2
24,000,000 24,000
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Al 1,173,000
- 390,000
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Al 1,173,000
- 390,000
02 B0 12S0oUstAI=2E ! E A 1,563,000 1,563,000 0
OYZIHTAl SHBZAL ZTENT 2
= 1,563,000,000& 1,563,000
Al 1,173,000
- 390,000
AEZHEZAl SEZ2SAIE 20XSHEH HE 4,205,000 7,492,000 N3,287,000
= 1,700,000
Al 2,505,000
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- 1,887,000
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- 1,279,600
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ral=| 1,828,000,000& 1,828,000
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